POHLED ZAPADNI

POHLED VYCHODNI

A4

POHLED JIZNI

+3.700

+3.700

+3.700

o

s

e

S L
|

+1.450

£0.000
’7

-0.300

L L

-0.300

>

+2.050

+1.450

£0.000

\ W |

| )

-0.150

-0.300

Q

+2.050

+1.050

- 1.050

£0.000

\ W |

-0.300
’7

POHLED SEVERNI

+3.700

~
L
=
~
=
= &
-« — [
= I &
Lt O
= >
[a% fa 0 @]
Lol o -
S < = @)
T = e <t
) (= o T
&= =00 > Al
<o m
= = Lot
= = <C
SE</ES [
E;Oq_._["\'
— -
<f>¥|5>— -]
o — )
== << | W )
E)WQ_I% 3
o:JSZ'%xo: O
< = <t O T -
m w L oo
o
fe)
~
NL
3

+2.450

AU DU

CAAD++

L2
I
S z ¢
D o o &
N s S| £ A
2 o8 8
Qk.u'\)%
< P85
\'e N Q o )
T oggl 2| B¢
I < |=
= [m) O
%3
= R c
O S a
> .3
L N T
O e}
z <C ¥ 5
X [ —_
& < Q>
Bl S Vo
I
=z -
< o| <C INL(*) >
X 2l = 5 [
or < O o
|2 5'0_5 <C ‘E‘_‘—‘ H
A%l |Z|e| =< S5do T
wiol |15 _| < 5% o
<= X|o| = o 3- (ol
o| O [ R
8% od2| |
> —
<| <C << & . —
D I =
< o o ~
g Z(I)Z\—QS') -2
S| & g == 0% 2]
2z E.<Q_Q$‘_ o
| < oD =
a|o .g_ﬁogh >
S — __ X O
— | L O T =
= = O m o x> T
<| 4 |9l = O S ® O
|l 7T o] O OLN)
X | m (o O < (W]
ol IT|O| == = ) a~ —
ol &
m .o .o
ol ol < -
al|™ slonl 2 <
Sls| [B|¥|2 2
N|Z O|Z|wn o

-0.300

£0.000

0

-0.300
’7




